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SURDS

a s NO CALCULATOR

a x g a0
Express V38 in the form ab ‘Express 45 in the form a where | Express V17563 inthe form | Express v/75 +v27 in the form
whete b is a prime number. @is an integer. aV7 where a is an integer. avb whete a and b are integers
B B B B¢
Expand3+45)2+V5) Expand 2+ 37) Show that Show that
Give your answer in the form Give your answer in the form @+255-5)-14+6%5 @+ BY9-32)=6+1242
a+b5 where a and b are integers | a+by/7 where a and b are integers | Show clear working out. ‘Show clear working out.
a @ ) C4 A recangle bas an area of
‘Show that ‘Rationalise the denominator and 24420 B0 cm’ and a width of 1445 cm.

D _af smphtyﬁ}ly o1 5 Catcutte the exact height o the

T s 97*2.} answer in the form a+b\5 sectangle, leaving your answer as a
‘Show clear working out. 3 simplified surd.
D1 Given it D2 Given it D3 Given it Dt Given it

(a+by =941 asVRE+R) =1+ a5 (s+zﬁ)1:p+7"‘. W+ VB =544 47

Find the value of a aud Fiad the valve of ¢ nd Find the vae of p and Fiad the valve of x and
the value of b the e of £ the vatue of g e alve ofy.
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